NEW COIR s

SPARE PARTS SUITABLE FOR PANASONIC®

ﬁg_______..

1a
P200,

P 350 AK|

1c

: 4b (ﬁ;
e Q% 'p500]

ITEM _ Part No | _DESCRIPTION | ORIGINAL REF. | PACK
Il ' i 17.06200 | fa Lancia P200 - Conductor tube P200 [ ]|
(17.06350AK | 1b| Lancia P3S0AK - Conductor tube P3S0 AK = [1
. [17.06350 |1 Lancia P350 - Conductor tube P350 | 1
11706500 | 1d Lancia P500 - Conductor tube P500 1
2 11735350 | 2al Portapunta P350-P350 AK ~Tip holder P350-P350 AK |5
——— | 17.35.500 2b! Portapunta P500 - Tip holder P500 [ 5
i =) = = Lokl | _
s iw 03.200 3al Supporto isolante ugello P200 - Gas nozzle holder P200 | |5
: 17.03.350 3b| Supporto isolante ugellu P350- Pasn AK - Gas nozzle holder P350-P350 AK 5
v 1?95306 _3; Suppnrlo Isdiah_le- uuellu PS'I]G - Gas nozzle holder P500 | | 5
| | = | |
| ’ !
4 [17.05350 m Diffusore gas isolato in ceramica P350-P350 AK - Ceramic gas diffuser P350-P350 AK | [ 10
| 17.05.500 _ lefusnre gas isolato in ceramica Pﬁl!tl - Ceramic gas diffuser P500 | 10
l = [
5 I 17.01.645.08H Punta guidafilo Cu-Cr-Zr M6 x 45 ﬂ 0,8 - Contact tip Cu-Cr-ZrM6x 45 @ 0,8 . 100
Iw 0164504 | Punta guidafilo Cu-Cr-2r M6x 45 81,0 - Contact ip Cu-Cr-Zr M6 x 45 81,0 ] [ 100
| 17.01.645.12H Punta guidafilo Cu-Cr-Zr M6 x 45 g1,.2 - Contact tip Cu-Cr-Zr M6 x 45 @ 1 2 - 100 |
e — | i? ﬁ1 545 16H s I Punta Eﬁiﬁﬁl?ﬁu {‘.r—irﬂ: f _ﬂ! 6 - Contact tjp_ Cu- pr—Zr_ MB X {.’gﬂ 15 ; J mo '
| 1170164508 | Punta guidafilo M6 x45 808 - Contacttip M6 x 45 0,8 [ [ 100 |
1? 01.645.10 Punta guidafilo M6 x 4_5_0_1_0_ s - Contact tip M6 x 45 ﬂ_ 1 ,_a i annle 100 |
1170164512 | Punta quidafilo M6 x45 812 - Contact tip M6 x45 @1,2 [ 100 |
17.01.645.16 | Punta guidafilo M6 x 45 @ 1,6 - ContacttipM6x45 @16 100
T [17.0220013 - Ugello gas P200 @ 13 L=65 - Gas nozzle P200 @13 L=65 [igis
1170220015 || Ugello gas P200 @ 15L=65 - Gas nozzle P200 @ 15 L=65 | 5
6 =t |17.02350.18 | ] Ugello gas P350-P3S0AK @ 13L=73 - Gas nozzo P350-P350 AK 0 13L=73 ! 5
| 17.02.350.16 || Ugello gas P350-P350 AK @ 16 L=73 - Gas nozzle P350-P350 AK @ 16 L=73 | 5
f | 17.02.50016 E UgellogasP500 @ 16L=88 - GasnozzieP500 @ 16L=88 | ['s
' 17 0250019 Ugello gas P500 @ 19 L=88 - Gas nozzle PSOU ﬂ 19L= 88 5

T SPARE PARTS SUITABLE FOR OTC”

[ ~ | 16.01.641.08H

‘16016411UH ¥

| 16.01.641.12H

| Punta guldalilo Cu-Cr-Zr M6 x 41 80,8

] "Punta guidafilo Cu-Cr-Zr M6 x 41 @1,0
| Punta guidafilo Cu-Cr-Zr M6 x 41 81,2

- Contact tip Cu-Cr-ZrM6x 41 @ 0.8

- Contacttip Cu-Cr-Zr M6 x 41 @ 1,0

- Contact tip Cu-Cr-Zr M6 x 410 1,2

| Punta guidafilo Cu-Cr-2r M6 x 41 81,6

[ 16.01.641.16H

160164108
| 1601641.10
| 16.01.641.12

16.01.641.16

| Punta guidafilo M6 x 41 8 0,8

Punta guidafilo M6 x 41 @ 1,0

| Punta guidafilo M6 x 41 §1,2

Punta guidafilo M6 x 41 816

- Contacttip Cu-CrzrM6x41 81,6

| 100

[ 100 |
| 100 |

| 100

- ContacttipM6x41 08
- Contacttip M6 x 41 @1,0
- Contact tip M6x 41 @1,2
- ContacttipM6x41 @16

NEW COIR spA is in no way alhlaated with OTC"-PANASONIC". The parts advertised for sale are not genuine OTC"-PANASONIC" parts, but are parts made for and by NEW CO!H SpA
Reference to OTC"-PANASONIC" machine, torches and numbers are for your convenience only. We reserve the right to substitute genuine OTC'-PANASONIC" parts in place of NEW COIR s.p.A. parts.

[ 100 |
| 100 |
| 100 |
| 100



	130

